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SN BME
HE: F0ID B (OIS AW
CH9l: FRIOHE MINHIA (Er9): & 2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
HAS 1,666,362 1,598,730 67,632
010t gtiole ol E A8 550,088 498, 128 51,960
F0I0E AFAMHI A 450,736 437,588 13,148
DHOEE DIRA 2H 30,382 33,624 N3,242
201 LEHREH| 27,182 28,424 N1,242
01 AtR2&cldl 6,500 6,548 A48
CHITER Y] 3,480
Oy A7 10,0003 42 « 122 480
ogza st2-2Y 100,000& «12& 1,200
oI 9I5)| BE 7Y
25,0003 64122 1,800
o1l =H| 1,820
OQAMDLT 222 130,000 +7% 23] 1,820
OYX= 1,200
OL-ES] 50,0002 *2CH 122 1,200
02 2324l 20,682 21,876 AT1,194
OZ2R3 2 HAl 20,682
OR¥R= 20,418
. Yt 2203 +1,80024 122 4,752
. = 1,720 65021 128 13,416
., EtERER 1,500& +1,50024 2,250
Oblza geHld R&= 22,000 123 264
206 = Hl 3,200 3,200 0
01 MZHl 3,200 3,200 0
OFY =5HZM 20021 %10, 000 2,000
OEM=ot SHAN==S 2,500 480 1,200
AL & Xt 91,244 82,214 9,030
101 Q12| 13,648 12,890 758
10 JIZAH22ASES 13,648 12,890 758
SEAL & 13,648
oJ12a 32,0003 x1H*212& 6,784
OnYse 32,0002 12022 2,944




SN BANS
HH: R0I0 BNGHE HOIRE A
o9l FDIOIE HHMHA (sl &2
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 giﬂgfﬁ HRs2
SEED 5,002 *12x2122 1,060
Ou Sl 5,000& x1H 212 1,060
ON=4g 1,000
. BHX 40,0003 x1H 102 400
. = HIS 20,0003 +»3E *10& 600
OZZ =t 400,000& * 1 x23] 800
201 LprE3AH| 77,596 68,424 9,172
01 At=2teldl 32,720 33,530 A810
oYL=l 32,720
O AL Ol AHHI 10,000,000& 10,000
OgxFYBA 248 1,500,000 * 122 18,000
ogxa 33 2¢ 90,000& *22l 180
OAAD ARE 7 4,000,0002 4,000
OXISOIAA AE S 22IH|
45,0002 *122 540
02 232944l 44,876 34,894 9,982
ozZ2R2 ¥ MA 39, 152
O&IIR= 12,000
. SEA 1,000,000 x12& 12,000
OEAIIARS 15,600
. SEA 1,300,000 * 122 15,600
O&st=E 23 200,000& *12& 2,400
OR=+IE 300
. SEA 300,000& 12| 300
OBBMWERYS 580
o BA 250,000& 22| 500
. Kb 20,0003 +2CH 23] 80
OXS XAl 88
. IR 28,5003 * 12l 29
. SEZHMI 58,5003 *13] 59
OSxg Sg:E 300, 000& »2CH 600
OSEAM SHEEZ 1,500,000& 23| 3,000
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20,0002 x60H «22| x12&
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224,150
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HHE
FoI0 BHGIE OHE A
D0 B AHIA (cHelmel)
M-8 SRI(310) - MRAY - BeS sl e HlRE2
O ZHA S==2F M 60, 000 = 100H 600
307 QIt0IA 30,000 30,000 0
04 QIZHHAIE X 30,000 30,000 0
o= & A 20,000, 000& 20,000
o2 M=Us 10,000, 000& 10,000
SEAE ZJIHA 99,352 60,540 38,812
72 FL SEAY 80,720 60,540 20,180
401 AIEHILROY| 80,720 60,540 20,180
01 Al&HI 80,000 60,000 20,000
OA+2 =0 =JAAMY 70,000, 000& 70,000
OXNDE=Al ALY 10,000,000& 10,000
03 A& =01 720 540 180
OATtE FRHAAS 80,000,000& +0.90% 720
LBALE MY 18,632 0 18,632
101 el2H] 12,562 0 12,562
10 JIZHNZ2Z2NSEs 12,562 0 12,562
OYIAL= ALY 12,562
OoJl=s 42,3003 x2H ~88 7,445
Oxg=¢ 42,3003 x2H +34 2,877
OunsH| 5,000 x2H 88 880
O=&l 5,000 »2H »88 880
ONE=H 60,000 x2H x43] 480
201 B2 EH] 6,070 0 6,070
01 AR 2&cldl 6,070 0 6,070
ogdA=E X A= 68,9703 »1[H+88! 6,070
HH2AAH (HAS) 1,116,274 1,100,602 15,672
2IH(EANE) 1,000,644 984,452 16,192
234l 1,000,644 984,452 16,192
101 el2H] 944,204 928,852 15,352
01 JIEs 522,180 512,955 9,225
O0==(25%) 485,748
053 (265 8) 2,871,900 x1&H~ 123 34,463




SN HAS
HE: HHSEAL(YNS)
cHol: oIl 2 | (HAS) (et9l: &2
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
O63(265) 2,485,400 *5H «12& 149,124
ora(3ss) 1,766,900 x4 x12& 84,812
osz(7e3) 1,273,500& *8H »12& 122,256
O9= (b5 8) 1,028,900 x5 x12& 61,734
Ollssz (175 8) 1,749,000& 1+ 12& 20,988
OJls13(71e3) 1,030,900 x1H «12& 12,371
d2+¢ 485,748,000& *0.9%1/12 36,432
=g 194,180
OAZI2A22Y 8,312& x25H 45 A| 2+x 128 112,212
oNsg 18,240
Ot 2 Xt 40,000 x25H 0. 78+ 12& 9,360
O - & 20,0002 x25H *1.48+12& 8,880
OXHEHI BEX =G 7,761
Osstu 51,4003 x25% x0. 2%4 3] 1,028
Oldsstul 420,790 x25% 0. 16%4 3] 6,733
290t 3 22,560
0253 0] &t 130,000 x4 x12& 6,240
Q20 0| &~25 = 0] Bt 110,000& x4 x12& 5,280
O154 0l &~204 0] et 80,000 x4H »12& 3,840
O10E 0| &~15E 0| Bt 60,000& *5H x12& 3,600
O5E 0 A~10 0] 2t 50,0003 x6H x12& 3,600
oRs=R+Y 6,647
OLT=18 B 121,620& *3H *12& 4,379
Oe=U= 94,4903 x2H x 12 2,268
QYR 30,000 x7H=12& 2,520
OAM3=XNERE 30,000& x2H 12 720
S8 22 70,0003 x24H x12& 20,160
Qll=g2xdg 3,360
oe=~73 30,000 x5H x12& 1,800
O8=0lat 20,000& x2H 12 480
OJlsgRsg IJtet3za 30,000& x3H x12& 1,080




SH: EAS
B HH2 AL (HAE)
Crol: ol oyl (MAS) (19 &
A BB O(B) - NEAY - BAS Of o e Hl R =2
03 HAMZAH| 39,000 39,000 0
OFMHZAH| 130,000& *25H x12& 39,000
04 WSS 2l 37,560 37,320 240
Ob5= 140,000& 1H «12& 1,680
e6~7= 130,000& 11 x12& 17,160
0892 120,000& =132 123 18,720
05 ZEFOHI 48,575 47,717 858
OYEFItyI 485,748,000& *1/12+120% 48,575
06 JtAHXI&HI 81,120 79,687 1,433
OQIJtAHXI & Hl 485,748,000& *16.7% 81,120
07 HIt8AtH| 21,589 21,208 381
O It 4|
485,748,000 *1/12%1/30%20 2 *80% 21,589
203 YRF&Y| 12,400 12,400 0
01 JI22LHRFLAI 7,200 7,200 0
OI=FS; 600,000& = 12& 7,200
02 FRIIAHRFEY| 1,000 1,000 0
O AINMHRF&H| 40,0003 259 1,000
04 REN2ITRFLEH 4,200 4,200 0
OFNMSIEYRFLI 350,000& 128 4,200
204 X AH| 44,040 43,200 840
01 HMSHASAHAH 1,800 1,800 0
OF=FS) 150,000& =123 1,800
02 =22l 38,640 37,800 840
Ob5= 250,000 1Y »12& 3,000
6= 155,000& *5H *12& 9,300
Q7= 140,000 6 H 122 10,080
0892 105,000 * 12« 12& 15,120
©J1s10=2 95,0003 1H«12& 1,140
03 EZYRYESH| 3,600 3,600
ONSREEERA 100,000& 3 12 3,600
I=EHI (EAE) 115,630 116, 150




SN HAS
HH: HEHSAAHI(ENS)
Chel: JI2ZHI(HANS)
SN - B E(3H) - NREAY - BAS Off AF ot =t
Off &k o
Jl=2&H| 115,630 116,150
201 BH2EH] 53,830 54,350
01 AtS2cldl 53,830 54,350
oYL=l 18,630
OJIZMNEES 15,000& 25 122 4,500
OHl2REz 504
. LA 12,0002 201 128 288
. NEX 9,000 20122 216
O=sAEX 7L 16,5003 3002 A 4,950
ONMUALEE 7Y 118,000& *73] 826
O2AE M A 150& *1,00001 *13Z5 *33] 5,850
Oox=zJ +¢ 10, 000& 200& 2,000
o2d=¢ 50,000& 110 5,500
O= gl 7,000 x25EH #9412 18,900
ogxtz 10,800
O= A 300,000& «3CH* 12 10,800
202 O4Hl 61,800 61,800
01 =LHAHYI 1,800 1,800
oO=2l bl 1,800,000& 1,800
02 HNHI 60,000 60,000
OZ M| 200,000& 25«12 60,000




